Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

13000 GeV pp tt
S 10t EF ' ' | ' ' ' =
D - -
% - Out (ATLAS ttbar) 7
% [ m ATLAS i
2 --©-- Pythia 6.428 390
?10—2 __ --8-- Pythia 6.428 391 —
S [E - ©- Pythia 6.428 392 =
ol © [ - B Pythia 6.428 396 .
< 3 g Pythig 6.428 397 N
o L - ]
:7 ¥~~::i¥t‘hgf 428 398
-3 AR JRE Y _ |
Uq_o :— XSS\:\\Q‘,Q: ] —
— A ‘g —
- \ _
L N 1
\4\:\1\‘
10 & e E
— \\..:\\\:\\\ [ | —
- SR B
- N ‘
10 = 3
_l | | | | | | | | | —]
= ! ' ' I ' ' ' ! ' =
2 F E
)] - -
0 3 N
< - N
|_
= - _
e 1
2 i
o i i
x
— —; N
i _ ;:zf%fffffff’:%"?: -------- e |
05 - = % i
| ] li"—:::?:’-:%”,l ] 1 -\-I l 1 1

|P | [GeV]



	Contents
	Page 1


